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void DoublyLinkedList::Bordo() 
{ 
  header->next->next->prev = header;   
  trailer->prev->next  = header->next;  
  header->next->prev  = trailer->prev; 
  trailer->prev  = header->next; 
  header->next   = header->next->next; 
  trailer->prev->next  = trailer; 
} 
 
void main() 
{ 
  DoublyLinkedList list; 
 
  list.addBack("Omer"); 
  list.addBack("Oguzhan"); 
  list.addBack("Fatih"); 
  list.addBack("Ali Osman"); 
 
  list.Bordo(); 
  list.print(); 
} 
 
 

1. What is the output of the program above?  (25 P) 
 
 
 
 
 
 
void DoublyLinkedList::Mavi(DoublyNode* node) 
{ 
  if (node->next == trailer) 
  { 
    cout << node->elem << endl; 
  } 
  else Mavi(node->next);  
} 
 
void main() 
{ 
  DoublyLinkedList list; 
 
  list.addBack("Omer"); 
  list.addBack("Oguzhan"); 
  list.addBack("Fatih"); 
  list.addBack("Ali Osman"); 
 
  list.Mavi(list.header); 
} 
 
 

2. What is the output of the program above?  (25 P) 
 

 

 
 
 
int linearF(int a, int b, int c, int n) 
{ 
  if (n <= 2) return c; 
  else return ........; 
} 
 
int tripleF(int k) 
{ 
  if (k <= 2) return k; 
  return tripleF(k-1) + tripleF(k-2) + tripleF(k-3); 
} 
 
void main() 
{ 
  int linF = linearF(0, 1, 2, 7); 
  cout << "linearF =  " << linF << endl; 
 
  int tripF = tripleF(7); 
  cout << "tripleF =  " << tripF << endl; 
} 
 

 

3. Complete linearF() that is equivalent linear recursive 

version of tripleF().  (25 P) 
 
 
 
 
 
 
 
int binarySum(int A[], int i, int n) 
{ 
  if (n == 1) return A[i]; 
  else 
  { 
    int Sum = binarySum(A, i, n/2 ) +  
              binarySum(A, i + n/2, n/2 ); 
    cout << "Sum = " << Sum << endl; 
    return Sum; 
  } 
} 
 
void main() 
{ 
  int A[8] = {1,2,3,4,5,6,7,8}; 
 
  binarySum(A, 0, 8); 
} 

 

4. What is the output of the program above?  (25 P) 


